
 

MULTIPLICANDO COM O POP IT 

  

                       REALIZE O CÁLCULO E MARQUE A ALTERNATIVA CORRETA. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

                                                                                                                                                       @professora.marciareis 

CÁLCULO RESULTADO 

4 X 2 = 6 8 

3 X 3 = 9 6 

6 X 3 = 16 18 

5 X 2 = 10 12 

7 X 3 = 21 25 

4 X 4
4 

= 16 18 


